N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

9] F 1%} F 123 0
X F X F X X
8 sl 8. 5[ B S
s 10°F = 10°F = =
E s F g 10 @
3 s f s 8
10*F ]
E E 10° 8
10°F 3
b b 10°
10°F 3
L L 10
10F 3
1 ) 1k 1
o wv
g B
24 T T T
1+ [ R EEE R !
0'—25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—] 5-10-5 0 5 10 15 20 25 0'—“25—20—15—10 -5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] F 1%} 2] F 0
x L < X - x
[ N =] [5] r 5]
£ 5 £ . £ £
10°F 2 10 g 10 @
E : B s 8
[ s N 3
10° 10° 10° 8 10
102 10? 10°F
N S TS SUNNE SUUU RS UUEY IO SO UL SUUURE SUUUO SUSUUUUY I b AR G AR | CARRRY AR
f '
P N L0 P DA POV N o 1w NS e |
14 14 . .
H P E "" | ---------
093020 -10 0 10 20 30 0936 =20 -10 0 10 20 30 0936 =20 =10 0 10 20 30

30 3 3
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


